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- Continue § 1.1 of [Sip]

- The "cost of excluding E from {93,6 , 9,0903,
- More on DFA's

06,091315 , . . .}

-

AUB
,
AaB

,
Ao B

,
A
*

-

why AaB and At are

awkward with DFA 's

e.g , { as , as }*

- Start § 1.2 of ⑤ p)
- NFA 's : non- determinism

- How they help with AaB
,
A*



Breakout Room Questions !

① Give a DFA that recognizes

(a) { E , -0,2 , 4 ,6,8 , 00,02 , 04,06 ,

08
, 10,12 ,

14
,
- - - )

(b) Same
,
but exclude E

(C ) i . . .
" E and do not

allow leading O 's

② Give a DFA that recognizes

{ 013,6 , 9 , 12,15 , 18,21 , -

-
-)

③ Is there a DFA that recognizes
{ 0,7 , 14,21 , 28,35 , 42 , . - - }



④ How
many states

needed to

recognize { as , at} by a DEA

⑤ How many states needed to

recognize { as , at }
*

by a DFA

⑥ How many states needed to

recognize { as , at }
*

by an
MFA

⑦ If an NFA has 1000 States
,

its corresponding DFA may
have roughly 2

""

States
.

Is there a relatively quick way
to see if the NFA accepts a given string ?




